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          ENGLISH(Answer Key)
 SECTION – A  
1 a) ii) Bamboo eater

b) iv) Its special wrist bone that acts like a thumb
c) Red pandas are an endangered species as their population is declining as their
habitat is destroyed due to deforestation.
d) Red pandas have reddish-brown fur, a long, fluffy tail with rings, and a special
wrist bone.
e) Poachers kill red pandas as their distinctive furs are valuable in the illegal
wildlife trade.

f) Red panda are most active at dawn and dusk.

g) destroyed

h) unique

 

2 Format
Content
Fluency
Expression

 

3 a) them--- Personal pronoun
b) old---- Adjective of Quality
c) He is an honest man.
d) I saw a big elephant in the zoo. It was eating peanuts.
e) There is a bird in the sky.
f) The cat jumped upon the table.
g) The ball rolled across/ on the ground.
h) enough—Adjective of Quantity
 

 

4 a) many/ ten/some     b) this/that      c) The                 d) your/ my/ his/her
e) a                                 f) under            g) across            h) whom
 

 

5 a) Kamala gently hugged Chinna, wiped his tears and listened to his problem
with care. She then promised to give him money to buy the bells and cheered him
up.
b) It is important to focus on doing one thing at a time because it helps us to do
the task properly and with full attention.
c) The old stag did not go down the hillock because he had fallen ill and felt too
weak to walk.
d) Yes, the animals felt bad for being greedy. They stopped eating the grass and
brought fresh leaves for the old stag instead.
e) Louis Braille lost his eyesight when a sharp tool pierced his eye while he was
playing near his father’s workshop. The other eye also got affected, and he
became totally blind.

f) ‘Night Writing’ was not a success because it was too difficult to read and use.
 
 

 

6 a) i) We should do all the task with all our might.
  ii) half hearted
 
b)i) The old stag went down the hillock to greet his friends.
 ii) a small hill
 
c)i) ‘He’ is Chinna in the above line.

 



ii) ‘He’ returned the tinkling bells because he lost the money.
7 Any relevant answer  
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